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e Please check that this question paper contains 12 printed pages.
Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i)  All questions are compulsory.

(ii)  Questions number 1 - 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

(iii) Questions number 6 — 10 are of twoe marks each. The answers to these questions
should not exceed 40 words each.

(iv)  Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v)  Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.

(vii) Questions number 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. Touet oM % Gaiv® o3 986 § SR FIT | 1

Highlight the most novel aspect of the Chipko Movement.

2. Tefderr % T ¥ AT @ Seretee T A & et S o S o e 9 0 2x3=1

Which two objectives Jawaharlal Nehru wished to achieve through the strategy of
Non-alignment ?

3. 3 ° # v srfEr w1 wr ¥ i wmi o a@anﬁwﬁqmmmm%ﬁamm
THEROT HEYt SRt 9 1

Which one of the two is more essential — construction of mega dams or an
environmental movement that opposes it and why ?

4. TR (TUETTH.) S w0 = E - 1
Why was ASEAN established ?
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5. atem 1 fER @ Fefve e s 3§ 9§ S99 0 e w6 e 1

(a)
(b)
(c)
(d)

7 Yefrfer e Qrereet fava & e fars 1 et 4t |
e Frator fget fava gg o qia v 6 |

AT R 5 9 Faway, 1989 i arg fear w |

TE ST % ST 9T S USHeR0T o s o |

Which one of the following statements about the Berlin war is false ?

@
()
(c)
()

It symbolized the division between the Capitalist and the Communist world.
It was built immediately after the Second World War.
It was broken by the people on 9™ November, 1989,

It marked the unification of the two parts of Germany.

6. gE & fHaEer G ¥ F ARWE € 2
What is meant by the Cuban Missile Crisis ?

7. AT WRE 1 R R ST F a0 w2 2

How was the reorganization of North-East India completed and by when ?

8.  EET® 1950 % T H, 37 % VIV EE i A6E SR W GHien fwa o, S g
W 1966 T Telteqr w1 FAT TH 2 2

While the rest of the country was reorganized on linguistic lines in 1950s, why had
Punjab to wait till 1966 ?

9. frefefaa & Wt e wifT . 4xVs=2
(A) (B)
(a) T @ ot foamers fgfe () % WEER
(b) 1974 ® YoT8 W ETATS H A [HAT (i)  SEUHRT TET
) TewhtmeaduiEeR FeR (i) W wATed
(d) e feowa & Ha (iv) = T Y
Match the following :
(A) (B)
(a) A politically controversial appointment (i)  Charu Majumdar
(b) Led the Railway strike in 1974 (i) Jayaprakash Narayan
(¢) Declined to join Nehru's Cabinet " (iii) George Fernandes
(d) Died in police custody (iv) Justice A.N. Ray
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10. %0 WRT & A1 TAFIT T T % FT § Fo@1 2@ 9 F T B AEET & GHEE
I A & 17 AT T FHUG F FEl a5 GENA § 7 2

“The leaders of the newly independent India did not see politics as a problem; they

saw it as a way of solving the problems.” How far do you agree with the statement ?

11.  ¥id g% % Tvar YRA-9F Tl § gU i) 9 seveul aqeet @ Seoid B | 4x 1=4

" Mention any four significant changes in Indo-China relations that have taken place
after the Cold War.

12. 2= (WTO) F fowga ¥ 01 8 7 30! ™0 6 58 41 2 T¢ (69 wor Fd F2a
T2 1+1+2=4

What is the full form of W.T.O. ? When was it set up ? How does it function ?

13.  “9Rd QTSN TR0 § Hatad AT Sawal & 9eae 9, Sfvas v § 9n ot @ e
W FUF & TR 8 HIE IR ST ST | 4x1=4
“The Indian Government is already participating in global efforts through a number

of programmes related to environmental issues.” Give any four examples to support

the statement.

14. QESENEA H 1948 T U 3160 W9fene W& &9 & folu goeg &3 amett aifefagt =t
TP HIC | 36 I HUE P B el S % (HE 81 W # Sl
T | 2+2=4

Highlight the circumstances that compelled the socialists to form a separate Socialist

Party in 1948. Mention any two grounds on which they criticized the Congress Party.

15. 1977 % &t & e wret A 69 UR 1975 ® T T SAYHE % FHI TAHT GUE
w9 ¥ faar 2 =g St | 4

How did Janata Party make the 1977 elections into a referendum on the Emergency

imposed in 1975 ? Explain.
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16. e B e T & Hiee & W UROTE! ST W S | 4

Critically examine the major outcomes of the Indian model of mixed economy.

17. ﬁﬁﬁquﬁwﬁmqﬁ&aﬁrﬁmﬁﬁaﬁw%waﬁq: 2+42+1=5
S S T TR TR e e A 58 S ot ol FE | 9
wmm%%wﬁﬁﬁ%ﬁh@ﬁﬁﬁﬁmmﬁaﬁaﬁ%%uﬁﬁ
Tehed & |maaﬁmqﬁm%mwma€ﬂ?a%qmﬁfa%ﬁma@a@wm |

1973 H o2 gF B A1 | 39 A% L fova F it o fer e W g AL | IS
Tt 3 o % g # o gfe w S Al | T TE A e weemna ¥ R | R

3 Erenfa wgd e 98 T |

(i) I 3 STOAT TET GEETO] TR0 S e S i 2

(ii) Wﬁmmqﬁmﬁw&wmﬁmaﬁmmﬁ%mwﬁmw
T TS AT L ?

(iii) 1970%W$Wﬁaﬁﬁﬁwmﬁmm%mwﬁmaﬁﬁwﬁ
off 9

Read the following passage carefully and answer the following questions :

When India conducted its first nuclear test, it was termed as peaceful explosion. India
argued that it was committed to the policy of using nuclear power only for peaceful
purposes. The period when the nuclear test was conducted was a difficult period in
domestic politics. Following the Arab-Israel War of 1973, the entire world was
affected by the Oil Shock due to the massive hike in the oil prices by the Arab

nations. It led to economic turmoil in India resulting in high inflation.
(i) When did India conduct its first nuclear test and why ?

(i) Why was the period, when the nuclear test was conducted in India, considered

to be a difficult period in domestic politics ?

(iii) Which international event of 1970s was responsible for high inflation in India ?
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18. ¥ U T HRA I AFUEE eFad Fiww AR Frstafas vt & s i

2+1+2=5
ey
P @ JFmon,
s A
@/ 2 3 -~ ‘:'-':f.—', 7]

{p o M
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SINCE 1989

D (g
K‘ 5 k‘%". i
fofaw |
(i) AR % THE T & Y H AT A, 2 F FEEE B Gy AR qE - 9r 2
(iil) 1989 & & T Fatem ¥, 59 @ U F g0 Tt gt i e o ¢

Study the cartoon given below and answer the following questions :

SINCE 1989
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(i) Identify any four national leaders from the above cartoon and mention the serial
number of each.

(ii) Which was the most controversial issue of the period related to leader No.2 as
Prime Minister of India ?

(iii) What was the position of the party led by leader No.l in the Lok Sabha
elections of 1989 ?

Sz . Frfeiad vee Sae gReaTa wetaEl & o IR e 18 F W WE |
2+14+2=5
(18.1) 1084 3 e T Fraer o for Tt 3 Waifues Wi i #i feess e 9 2
(18.2) 1990 ¥ T HiET # ST A HiA @1 watye faemr ot forr 2
(18.3) o e Tt 3 U e AR 1 QST i T g 1w e ¢

Note : This following questions are for Visually Impaired Candidates only in lieu
of Q. No. 18.

(18.1) Which party had won the maximum number of seats in Lok Sabha
Elections of 1984 and under whose leadership ?

(18.2) What was the most controversial decision taken by the National Front
Government in 1990 ?

(18.3) Which Prime Minister started the new economic reforms and what was

its outcome ?

10. T T SYEEROT B AFYES qfed 3 i et % 3 ST 2+2+1=5

T e e TE ¥ o SveieRuT & SROT TS AT AT TR B A HAl
¥ 3 B A F e e & | G gPn ¥ SeurhR) T5g S AR 3 WA 9 T ¥
AT TR TE A TR T A & A ¥ | T 37 FOF TH I A & I
i e &, SR F SR SET g TG T ST A i YT HT | T W
T Y o W R & UR v e sl | i forn & R v e o
AR BT O | S-S U5 ® SR 3§ SN Sas S WHEiSs
rfirerTa @ yHE HURE
@) T E AT T S ST U ISR R 3 YS! S SR € Hig |
(i) ST TS Y RO B T A Ui I i o W18 7
(iii) TR Fe TR AT efeeTe T e R a9 T e 2
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Read the following passage carefully and answer the following questions :

At the most simple level, globalisation results in an erosion of state capacity,
that is, the ability of government to do what they do. All over the world, the old
‘welfare state’ is now giving way to a more minimalist state that performs certain
core functions such as the maintenance of law and order and the security of its
citizens. However, it withdraws from many of its earlier welfare functions directed at
economic and social well-being. In place of the welfare state, it is the market that
becomes the prime determinant of economic and social priorities.

(i) What do the words ‘erosion of state capacity’ imply ? Explain with the help of
an example. '
(ii) Why is the concept of welfare state giving way to a minimalist state ?

(iii) How has market become the prime determinant of social priorities ?

20, Rw T svaaver ® ey ufEw sk FeElEtaa et % s S 1+2+2=5

3 TSR s # SR T A% G a1 | T e O 5 39 AR B &/
T /G o B T | v vy # waraf wwren o f Pt o e s v ft
e B | 3 T T @ T & FeieRT S s @it % g W i e
% o it ot | Tl w5 el wnt § Seen e sk T Tei | w6 gE e |5
Termor 3 Tt oft Sefaes s a1 AL B 1 SR R fRAT T
() ORI ¥ W fefen [ eroet e § gt 9 9 aiEdT o 9t |
(i) Tmfee wrot i FAst Gt S = SEe S a1 9
(iii) T TR dEY TR T HIE TE T8 df, a s ® b w1 % fog

Teot 31 T FF 9 2
Read the passage given below carefully and answer the following questions :

Each of these countries was required to make a total shift to a capitalist economy,
which meant rooting out completely any structures evolved during this period. Above
all, it meant that private ownership was to be the dominant pattern of ownership of
property. Privatization of state assets and corporate ownership patterns were to be
immediately brought in. Collective farms were to be replaced by private farming and
capitalism in agriculture. This transition ruled out any alternate or ‘third way’.

(i) Name any two countries which were required to make a total shift.
(ii) Why were the collective farms to be replaced by private farming ?
(iii) Since the ‘third way’ had been ruled out, what were the only two ways of

controlling the economy ?
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22.

In the given political outline map of South Asia, five countries have been marked as
@, , © @ and @ Identify them on the basis of the information given below
and write their correct names in your answer book along with their respective serial

number of the information used and the concerned alphabets as per the following
format :

Sr. No. of the information | Alphabet | Name of Country

(i)  Animportant country but it is not considered to be a part of South Asia.

(ii) The country has a successful Democratic System.

(iii) This country has had both Civilian and Military rulers.

(iv) This country had Constitutional Monarchy.

(v) AnIsland nation which was a Sultanate tiil 1968.

. Py e gfeaaa wheniat ¥ o W @ 21 F WH W
L 2+1+2=5
(21.1) =fetor ufern & W FrA-ae ¥ 3w e g o € 2
(21.2) <o iR & T R 2 29§ i S e T W E 2
(21.3) THT (SAARC) T WRT (SAFTA) % T 9 fafEw |

Note : The following questions are for visually impaired candidates only in lieu of
Q. No. 21.

(21.1) The expression ‘South Asia’ usually includes which countries ?

(21.2) Which two countries of South Asia have successfully operated
democratic system ?

(21.3) Write the full forms of SAARC and SAFTA.

meﬁw%mm%mmw%zﬁaﬁmﬁaﬁﬁ,mﬁw

d fafie ghemii 1 e ST | Ix2=6
FeEr

&éﬁ#ﬁaﬁm@mﬁwﬁﬁmsﬁqﬁaﬁaﬁ i wEar el aer @

e Y, T TETTE w7 3 & fo Saer € ' Ix2=6

Analyse the three different views within India about the type of relationship India
should have with the United States of America.

OR

Evaluate any three major factors responsible for making the European Union a
political force from being an economic force.
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23. wifagn 99 A Wit sgewn ot 52 97 gereE au §R TERers et 5 s

BT | i 3+3=6
HY4qr

TE FE Fel 9% shaq & F A g5 ¥ SRm, A veeuat % Pk wewitwt w5

e AR B 90 A @ & T F Eer o 0 e HT | 6

Highlight any three positive and three negative features each of the Soviet system in
the Soviet Union.

OR
How far is it correct to say the international alliances during the Cold War era were

determined by the requirements of the superpowers and the calculations of the
smaller states ? Explain.

24, wgE T e O & gt QuR @ ave S B o e et gen € R v g

& TV T BT A | 2x3=6
) S

TR G Hifer & U ae % T F iR SO F I BT | B TT 98 Gae

&Y wfire S A € 2 3+43=6

Describe the two basic reforms of the U.N. on which almost everyone agrees that
they are necessary after the Cold War.

OR
Explain balance of power as a component of traditional security policy. How could a
state achieve this balance ?

25. O SETEY WS W 9eg ¥ ovEn, SR e @ vee W a9 o wees aRkfete o
fervetwor #ifg | R A w5 wam E F w9 F wrwlEer wE S T B AR

ITCATEIT T oG FIAT | 2+4=6
4T

25 5[, 1975 # ura ® omie fefs #t aivon fr 9@ F v soaet et @

faetooT =it | ' 6

Analyse the circumstances that favoured Indira Gandhi to become Prime Minister
after the death of Lal Bahadur Shastri. Mention any four achievements of Indira
Gandhi that made her popular as a Prime Minister.

OR .
Analyse the circumstances responsible for the declaration of a state of emergency in
India on 25" June, 1975.
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26.  “eiEg T W HEAT ST WS % I 9T 90 IS4G T TS B, UF ASAias $59 & w0

H @ TH S & AT (9 w5 % o S suge a% dfe | 3x2=6
Fqeuar

WA F A YR H AT T Aol e o % Aiee ¥ Wetud wewe a9

rERfe & fafa=t &= = wdiemor FifAg | 3+3=6

“The accommodation of regional demands and the formation of linguistic states were
also seen as more democratic.” Justify the statement with any three suitable
arguments.

OR
Examine the different areas of agreement and disagreement with respect to the model
of economic development to be adopted in India after independence.

27. Y UV H 96 YN (A1) R AiRieHt % 39 g o 9o S e gy 3w @ e

eI T | 6
- o

e S faemet 39 % uwrer @i fyen | fafaver & ufa wiewditye g & s # ave

AT | 6

Describe the issues associated with the Anti-arrack Movements in Andhra Pradesh
which drew the attention of the entire country.

OR

Describe the advantages of the democratic approach to the question of diversity in
uniting a large country like India.
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